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; 100kN/M#%#BZ % - -~ -|3mZEBZS -~ - -| 100kN/m%#8Z% % - -~ -|3mEBZD ~ -
ZhnLs 1.00 | 000 ~ 477 59.50 | #ns | ooo ~ 000|1.71 9.17 Zzh st 1.00 | 6.00 ~ 5.00 59.50 | TnSY | 5.00 ~ 500|171 9.17
2 100kN/mM##BZ % ~ -|3mZEBZS ~ -| 100kN/m%#8Z% % ~ -|3mEBZD ~
ZznLst 1.00 | 0.00 ~ 554 69.15 | TN | 000 ~ 0.00] 1.62 8.70 Zzhn Lt 1.00 | 5.00 ~ 6.30 69.15 | =ns | 5.00 ~ 6.530 | 1.62 8.70
3 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
zh st 1.001 000 ~ 477 59.47 | #ns ooo ~ 477|1.75 9.54 ZThLLS 1.00 | 5.00 ~ 5.00 59.47 | TS | 5.00 ~ 500|175 9.34
4 100kN/mM#%#BZ % ~ -|3mZ#BZ 5 ~ -| 100kN/mM%#B =% ~ -|3mE#BZD ~
Zzhnst 1.00 ] 000 ~ 469 5845 | #ns | 0oo ~ 469]1.83 9.79 ZThLLS 1.00 | 5.00 ~ 5.00 5845 | TN | 5.00 ~ 5.00| 1.83 9.79
5 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#B 2% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.78 85.72 | #hdstk | 000 ~ 000|157 841 Zzhn st 1.00 | 5.00 ~ 9.29 85.72 | #hs | 65.00 ~ 929 | 1.57 8.41
6 100kN/m##8%2%5| 1.00| 000 ~ 1.77| 12709 |3mE8BZ5% ~ -| 100kN/m%E##BZ25 | 1.00 | 1053 ~ 1689 127.09 |3mEiBZ5 ~
Zhnst 100|177 ~ 955 100.00 | ZnLsS | 000 ~ 955| 2.56 12.61 Zzh st 1.00 | 5.00 ~ 1053 100.00 | =nS | 500 ~ 1689 | 2.56 12.61
- 100kN/m##8%%5| 1.00| 000 ~ 067 110.02 |3mE8BZ5 ~ -| 100kN/m%E#BZ25 | 1.00 | 11.74 ~ 1383 110.02 |3m%EiBZ5 ~
LS 1.00] 067 ~ 846 100.00 | ThLsS | 000 ~ 846 2.45 13.10 LS 1.00 | 500 ~ 11.74| 100.00 | =0 | 5,00 ~ 1383 | 2.45 13.10
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhs ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhs ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
ZzhLst ~ zhLs ~ zhst ~ zhLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhst ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zhus ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st ~ Zhus ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st ~ Zhs ~ LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh Lo ~ Zh LS ~
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